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10. Explain with the help of decided cases, the A
‘doctrine of eclipse’ and the ‘doctrine of (20123) ROl NG coeemesmsseessenne
severability’. LL. B.-1 Sem.
froffa et 2 |ermar 9 ‘oTeBRE W e’ o
‘gaep el W frer 3 e FT | 11201
@ Discuss with illustrations the right of equality LL. B. Examination, Dec. 2022
before law. LAW
R & w9 g 3 SRR B et 3 'Y Constitutional Law of India
&= At (K-1002)

. - ] = 1og
@ Which different freedoms are included in ‘right to Time : Three Hoursf [Maximum Marks

freedom of speech® 7 What restnctions are

. i ] e ] Note : Attempt questions from all Sections as per
imposed on them 7 Discuss in detail with decided

instructions.
cases.
: T+t gt | Fdwgar a1 & fife

‘qrg WA @ AT ¥ aF-Pa d@ Rt '

e it # 7 99 W aiey o g @7 Section-A

it et @ wma fawga fad=mn AR qUE-H

Short A ti

@ Against whom can the fundamental rights be (Very {;ﬁ aswer T}'ﬂ p;;il estions)

enforced? What remedies are available to a !

person to enforce fundamental rights? Discuss. Answer all the five questions, Each question

carries 4 marks. Very short answer is required
Hitrep SARBR Fheh Racirs AT U o §6d 87 not exceeding 75 words. 4x5=20
A sttt B A FA 3 e Bl =i 3 ¥ g e 3 T ARTT | T S 4 St
TR T TR AT &2 fad= R 8 1 st 75 vt Ay g I AR 2
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What do you understand by fundamental law ?

g faftr | o1 gEd &7

Federal Constitution.
g41q dfegr 1
Parliamentary form of Government.

I B GEET TR |

Secular state.

gl T

Right to property.
Hof 1 AR |
Section-B
qEq
(Short Answer Type Questions)

(wg sl ow)

Answer any two guestions out of the following

three questions. Each question carries 10 marks.

Short answer is required not exceeding 200 words.
10%2=20

Frafefaa ot F @ B8 & ot @ S
A uxS N 10 i = & 1 S 200
Tl i @Y A% SRR 21
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“Preamble gives direction and purpose to the
Constitution.” Describe.

“crearae |l B R oF IR oEE S &1
gui- Ao |

Write a short note on ‘ fundamental duties’.

Ao Hder’ W Hier< feqelt fafEw o

What is the doctrine of double jeopardy 7
Explain.
28t Hohe & Rsa #9187 e R |

Section-C
-
(Detailed Answer Type Questions)

(Rega swlw =)
Answer any three questions out of the following
five questions. Each question cames 20 marks.

Answer is required in detail. 20x3=60
Preffa de oot 7 @ RS @R ol @ e
AT | TS TYT 20 SfR W B IR I
s B

“Environment protection structure is the result
ofextended interpretation of Article 21.” Discuss.

‘gl G W Sran RS 21 % A sare
=1 qftomm 1 fRdear A



